UCF Mer	n's Golf Q	ualifying l	Results						8/22	2/25	8/23	3/25	8/24	1/25
										Rivers		Rivers		Rivers
	Sco	ring		F	eet of Put	ts			74°-83°	Feet of	77°-86°	Feet of	79°-89°	Feet of
Strokes	To Par	Rounds	Average	Total	Rounds	Average	Pos	Player	2-6mph	Putts	3-5mph	Putts	2-6mph	Putts
569	-7	8	71.13	403	8	50.38	1	Clemente Silva	69	44	70	59	75	36
569	-7	8	71.13	551	8	68.88	1	Hans Risvaer	69	74	72	73	72	45
584	+8	8	73.00	440	8	55.00	3	Chase Haygood	74	62	72	71	75	44
585	+9	8	73.13	491	8	61.38	4	Palmer Haynes	77	26	77	83	71	61
587	+11	8	73.38	571	8	71.38	5	Cam Goldknopf	77	64	77	65	75	51
589	+13	8	73.63	385	8	48.13	6	Lucas Dutartre	74	72	74	50	71	45
594	+18	8	74.25	441	8	55.13	7	Jakub Hejlek	81	36	73	58	77	27
607	+31	8	75.88	327	8	40.88	8	Jakob Stubhaug	77	34	76	49	76	53

8/2:	5/25	9/5	/25	9/6	/25	9/7	7/25	9/1	1/25	9/1	8/25	9/19	9/25	9/20	0/25	9/21
	arlton	Twin	Rivers		Rivers		Rivers		Nona	Lake	Nona	Twin .	Rivers	Twin .	Rivers	Twin I
76°-85°	Feet of	76°-84°	Feet of	75°-87°	Feet of	76°-88°	Feet of	73°-81°	Feet of	Temp	Feet of	Temp	Feet of	Temp	Feet of	Temp
1-8mph	Putts	1-6mph	Putts	2-7mph	Putts	3-6mph	Putts	9-12mph	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind
71	41	72	77	73	52	68	38	71	56							
74	29	71	98	73	47	71	30	67	155							
72	48	72	50	77	36	71	55	71	74							
68	62	76	43	70	102	74	36	72	78							
72	52	71	78	72	70	72	52	71	139							
70	57	74	49	72	48	82	31	72	33							
75	33	69	98	70	76	72	75	77	38							
75	30	79	48	76	48	75	33	73	32							

[/25	9/20	6/25	10/1	6/25	10/1	8/25	10/1	9/25	10/2	20/25	10/2	4/25	10/3	1/25	11/3	3/25
Rivers	Twin .	Rivers	Lake	Nona	Twin	Rivers	Twin	Rivers	Ritz C	Carlton	Twin	Rivers	Twin .	Rivers	Twin .	Rivers
Feet of	Temp	Feet of	Temp	Feet of	Temp	Feet of	Temp	Feet of	Temp	Feet of	Temp	Feet of	Temp	Feet of	Temp	Feet of
Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts

11/1	0/25	11/2	2/25	D	ate	Da	ate	D	ate	D	ate	Da	ate	Da	ate	Dε
Twin .	Rivers	Twin.	Rivers	Cor	urse	Coi	urse	Cot	urse	Cor	urse	Coi	urse	Coi	urse	Сог
Temp	Feet of	Temp	Feet of	Temp	Feet of	Temp	Feet of	Temp	Feet of	Temp	Feet of	Temp	Feet of	Temp	Feet of	Temp
Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind	Putts	Wind

ite	Da	ate	D	ate	D	ate	Da	ate								
ırse	Coi	urse	Coi	urse	Coi	urse	Coi	urse	Cot	urse	Con	urse	Con	urse	Coi	urse
Feet of	Temp	Feet of														
Putts	Wind	Putts		Putts	Wind		Wind				Wind		Wind	Putts	Wind	Putts

D	ate	D	ate	D	ate	Da	ate	D	ate	D	ate	Da	ate	Da	ate	Da
	urse		urse		urse		ırse		urse		urse		urse		urse	Сог
Temp	Feet of	Temp														
Wind	Putts	Wind		Wind	Putts	Wind	Putts	Wind		Wind	Putts	Wind	Putts	Wind	Putts	Wind

ite	Da	ate	D	ate	D	ate	Da	ate								
ırse	Coi	urse	Coi	urse	Coi	urse	Coi	urse	Cot	urse	Con	urse	Con	urse	Coi	urse
Feet of	Temp	Feet of														
Putts	Wind	Putts		Putts	Wind		Wind				Wind		Wind	Putts	Wind	Putts

D	ate	Da	ate	Da	ate	Da	ate	Da	ate	D	ate	D	ate	Da	ate	Dε
Co	urse	Cot	urse	Cot	urse	Coi	urse	Cot	urse	Con	urse	Cor	urse	Coi	urse	Сог
Temp	Feet of	Temp														
Wind	Putts	Wind														

Γ									
ı									

ite	Da	ate														
ırse	Coi	ırse	Coi	urse	Coi	urse	Cot	ırse	Coi	urse	Cot	urse	Cot	urse	Coi	urse
Feet of	Temp	Feet of														
Putts	Wind	Putts	Wind	4	Wind	Putts	Wind	Putts	Wind		Wind	Putts	Wind	Putts	Wind	Putts
																\Box

D	ate	Da	ate	Da	ate	Da	ate	Da	ate	D	ate			
	urse		urse		urse	Coi	ırse		urse		urse			
Temp	Feet of													
Wind	Putts													